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Compute (f o q)(\) .
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'ind the coordinates of the x-intercept(s) for f(x) = —
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Question 3

[he graph of the function f{x) =

4.0)
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has a horizontal asymptote. If the graph crosses this
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asymptote, give the x-coordinate of the intersection. Otherwise, state that the graph does not cross the
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e)  The graph does not cross the asymptote.

Question 4

I'ind £ (8), /(—2) and f (— 5) given

a)
)
d)

¢)

3vT+6 0 x <=3
Jx) - [ 4 —3<x<4
-2x—2 x >4

T Fre) = e 2828
(&) =4, fiI-=2)=18 and f{(-5) = 8l

(= 3L—2< ,::7 2=
f8)=-18, i=2) =4 and f(=5) = 81 ‘Fﬂ 2 \3< % —%’ 4’

R, =
A8) =18, f(=2)=18  andf(-5)=4 Jf\’@ ¢ l 552 ‘:; 7EK’>>‘ 3 fﬁé
=3

A =4, f-2)=4  and f(-5) = 81

f(8)y =198, f(—2) =2 and f(—5) = 4

Question 5

Find the coordinates of the vertex for the following parabola.

a)

b)

B
==X +4v+6
v 7" ¥

4= -i (1% 64 )t 16

(8,0) ( 2 4/_
- L [ X~

(0,6) =g T8

Vel (§23

1722172015 5:11 AN



‘rint lest https://assessment.casa.uh.edu/Assessment Print Test.hti

a)  flo)=- —l— N3 F3)=—6 F(4)=~

7 X
b) Jx)=4x+18 \> ><
o fn-g-3 —> X
dy flv)= —4'1_\- 18 N

@.f‘(x) —dy-18 \/ \/

Question 7

Put the equation in standard form for a hyperbola.
16X =9y +64x+36v =116
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Find the x-coordinates of the points of intersection for the functions: f(x) = x> -6 and
g(x)y=—x+12

Kb = —X+|2

a) {-U4+1/4N73,12+1/27 73}

- %“
by {-1-V73,-1+V73} . = KK [§=0

o) (1/2-1/2473,1/2+1/2N 73} =
2.... F
@ (~172 = 12N 73,-1/2+ 112 T3} — T@ o LB
2
o) {=132-12N73,-132+1/2Y 73}

Question 9

3

Find all roots of the polynomial P(x)= Z 2 =6x?
s
X suhdnik poo=0 = ¥ —bx =
a) {x=-2,x=-1} ) 3xf_ypx2:o

{r=0.x=2} = ¢ —8x=0

= 2 3 _
c) x=0,x=2,x=3} ‘; x (X_%v —0
3
dy {x=-2,x=0} —\; X=0 or 2. &2‘,&)

Question 10

Which of the following are true statements?
I. sin® 0+cos 0—1
\/H. tan2 @+ 1 =sec® 6 :km
\/ M. | +cot?=csc*6
Vv —— L SQC

csctf sec?d

A4
a) land Il only. Sﬂ/ﬂ& 1 CDL?@' :l ‘

b) Iland IT only. Secdy -

¢) L 1L and Il only.
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d) None of these are true.

‘ All of these statements are true.

Question 11

1
Simplify the expression:  — (,Z )SiC(o/i)(A) =1 S‘_V?b?’jm Costh
. c oXa) i
= ne_ th
oy S = Cowbi ey
e/
a) 7 csc(A) ,__7 Ci)ﬁ(ii)_ ‘
7 sin(4) B Sm?\ Lt
@ COLASINA -
c) 7 sec(4) — /7 m = /7 STA -
| - .
d) 7 cot(4) COYSMA

e) 7 cos(4)
Question 12

Which of the following functions matches the graph below?
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ay S =@+3) -1

@ fix)y=—(x+3) 1 +1

0 f)=—(x=3)7+1

d)  fl)y=—(x+1)>+3

&) fl=(-1)7+3
Question 13

Given f(x) = V3y-5 and g(x)=x>—4x—12 , find the domain of =
NN NAA~

r?{#o. and s value st
= 3 o veal namber
x5 2 20> o5
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a) [3 ,0) U (6,0)

3
5 DX
b) [3 , ) X (} { N)
5 5
C) (—OO,:)U(—,OO)
3 3
d) (—%,72) U (6,)
5
6~
Question 14
Perform the indicated operation and reduce completely.
X 3 X
x2+11x+30 x24+3x—10  x?+4x-12
_ x 3 Y

2042 — 180+ 36 (Kﬁ)(x*rb)* ADE2)  (—2XH6)
(x +6)(x + 5)(x — 6)(x — 2)

- s _ )G £26et6) —X (XTE)
(x+ 6)(x + 5)x — 2) (KHED (KD (K =),

W3 41032 4355+ 18 — ,X{ZX—HX_H& —7(9{_'9( :\“X__‘_"fL..
GOt -2) (L) OCTSD (K2 (&KX K)
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<)
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—x3 —12x2-25x+18

(x+6)x+35)(x—2)

—22x>—18x+ 108

(x + 6)(x + 5)(x = 6)(x ~ 2)
Question 15

Simplify the following:

https://assessment.casa.uh.edw/Assessment/PrintTest.hir

) xX+5
a
x 10320
x—1
b) p 1410
x—35
© e
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Question 16

X2=6x+35

.\'”V”
w17
= X=5 s

X %3 T exts
= x=5) 47
X9 (e5))

Ky
X=\.

Simplify the following. No answer should contain negative exponents.
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Question 17

Given f(x) = b , simplify S+ i)~ ) ,h#0 whenx=-1,
x+3 h
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(o) n (e 1)
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Question 18

Given that f{x) = x> +3x  and g(x) = 5\ 2, find (fo g2)(2) .
__'-S: )))
a) 48 8(7-)** A 8
o} oo
2
5 5 = 2%

o 2 = o4 17F
_88 -

Question 19

o G(2X+5)-3

_loXt+2 L

Find the v- mtucept of (N2x+5) .
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a) (0,- g)

by (0.-)
17

c) (0, E_I-)
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Question 20

*m’\* \ coyt-

11
Suppose that sec(8) = — — and that 180° < B <270°. Find sin(B).

8 °
\u/ ) >]{|O

S ki 0 SIhB < o %
a SII] = —IE)'— g-
sin(y =~ 37 D se®- g a> m, 7 =
11 -
- SRS B)=| D SThB)= |~ %\—
¢) sin(B)=- I_b E:Z’_
V3 %)
d) sin(B)= T _Q SW(B

- (bar SINB) <o)
V57
e) sin(B)=-——

. > SQ’\(B):
Question 21

o
<%0 ‘
Suppose that 0 is ax angle of a right triangle and that sec(8) = rs Find cos(9) and csc(0).
S lelT

a) cos(8)= \/59 and csc(0) = 5\:/"% S CU\O\ S = —
os(_O) = —;— and csc(B) = 8\4939 i &
3 p . —_ .
. ‘[\\\752\\\ 2= {685 = |
= & ,&\;
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c)

d)

e)

https:

8 8V 39
cos(0) = 3 and csc(8) = 3;

8V 39 V39
cos(0) = 39 and csc(0) = ;

’<
OO(_,,)l
\O

5
cos(0) = 3 and csc(0) =

Question 22

List a

[l x-intercepts fory =

2 Lod x sudhthak

1
~3sin(5 x + %)

e,
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Question 23
Solve sec?(x) =1 over the interval [~ = -577[]
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Question 24
Given f(x) = 3\;918 , identify any horizontal asymptotes. *F: %(—X(——])
oo X
XK
5@ 42 | 870G
S22 — %:ﬂ \(
b) y=-3 o?pgp o@% W)
¢ ¥=3 lead; wefflh@
0 - dogp <doigl ), o
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e)  There are none.

Question 25
Find the exact value of the following expression. If undefined, state, undefined.
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d)  undefined T(
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